[ Efficiency vs vertpos |

o

o
S
o

TTTT
i

- :

i —

l-||

1072 101 1 10 0?
TP vertr (cr%)

— L) [ VECTOT_IUUUEVT
—e— D §d~| 10%e t
— —— D |tt 4 1'00 ev
Efficiend ——— R Oevt
—— D 0 Vi

~ 0.05 : . .
Do b

o F : : : :
>0.04F------ REEE IEECELECREE L e
& E : : : : :
o R SRtIis 1§ P SR
ETON0)c RS SURRE NS SN A
e E : : : : :
P S S SRCCIR SRR 38 R SR
0.02F-++--eeeefp- b b o L
E +#ﬁ§ #*,; |
0.015—""":"'" - *$ * ek eeeieeees

1Y% SRR LI R 18 0 e
L R SRS 0 s SRatll
1Q

1.05]

Ratio

................................

iy

9935~ =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.7
>
80.09
£
£0.08
£0.07
oy
.5 0.06)
o
£0.05
()
0.04
0.03

0.02
0.01
A
o I .y
T :
x T
]_— ------ - - ?r , ---------

0%55"15 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


